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A
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Mo W
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468,615
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120,070
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01 Al&HI
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HoH W
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73,514
36,757
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61,922
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55,325

129,092
87,900
26,370
61,530
56,555
16,967
39,588

4,307
466
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69
164
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468
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793,181

7,212
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A2,905
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= 95,580
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= 65,476
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= 81,362
< 24,313
= 57,046
M ORIMZZ2NSE S 162,721 162,721 0
1AM H0I QO A=FIEH 0124H|
115,456,000 115,456
= 57,742
[ 17,227
Ea 40,487
EIRIIR ZALE Q14|
47,265,000& 47,265
= 23,620
< 7,086
= 16,559
201 er2&| 12,384 12,384 0
= 6,192
< 1,857
= 4,335
01 At22t2lt] 6,784 6,784 0
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= 3,392
== 1,017
[Ea 2,375
2 352484l 5,600 5,600 0
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1)J1se =0l 2,000,000& 2,000
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405 AHatE = 9,700 9,700 0
= 4,850
== 1,455
= 3,39
01 TR =S F=H 9,700 9,700 0
NELEH 7 9,700,000& 9,700
= 4,850
== 1,455
o 3,39
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101 @124H| 100,000 100,000
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= 81,382
o 325,327
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o 325,327
01 Al&HI 404,359 808,718 A404,359
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404,359,000 404,359
S 80,872
= 323,487
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s 1,840
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101 21AH| 14,651 20,000 N5,349
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= 4,680
= 1,002
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= 1,470
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AZAIH (EX) 693,756 693,756 0
= 485,629
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= 485,629
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i 104,064
01 AlEHI 683,900 688,900 0
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& 28,860
i 28,860
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& 74,475
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Ea 825
401 AlEHIZ S 0HbI 5,500 5,500 0
= 3,850
= 825
= 825
01 Al&H| 5,500 5,500 0
DAFEAIZ A E Y 5,500,000& 5,500
= 3,850
< 825
s 825
ANEAIE R X2l (BX) 57,000 57,000 0
= 39,900
< 8,550
= 8,550
401 Al HIZL 01| 57,000 57,000 0
= 39,900
== 8,550
o 8,550
01 Al&HI 56,602 56,602 0
NAMZAIE R R 2| 56,602,000 56,602
= 39,620
=S 8,491
s 8,491
03 Al 20HHI 398 398 0
NAMZAIE S R 2] 398,000 398
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=S 59
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= 3,850
= 3,850
401 Al HIZL 01| 7,700 7,700 0
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10,000,000& 10,000
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401 AlZHIZ SO 100,000 298,400 198,400
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01 Al&H| 99,100 297,900 198,800
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= 49,550
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03 Al 20HHI 900 500 400
NS SAZF 900,000 900
S 450
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SHEIELAES(ER) 5,600 5,600 0
= 2,400
Ea 3,200
402 2IZtA=01d 5,600 5,600 0
= 2,400
o 3,200
02 BIENZASEZ (01 THR) 5,600 5,600 0
NFEs B2y 22 A
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= 2,400
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S 20,000
o 60,000
01 AlZ2H| 79,280 79,568 N288
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MHHHSHELHEH(R=2)(EX) 1,282 730 552
= 640
= 193
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= 449
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640
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M
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